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A subset of a population selected to help make inferences on a population is
called

(a) a population

(b} inferential statistics

(c) acensus

(d) a sampie

when straight-line segments are connected through the midpoints at the top of
rectangles of a histogram with the two ends “tied down” to the horizontal axis,
the resulting graph is called

(a) abarchart

(b) apiechart

(¢} afrequency polygon

(d) a frequency distribution

If the first five classes of a frequency distribution have a cumulative frequency
of 50 from a sample of 58, the sixth and last class must have a frequency count
of

(a} 58

(b} 50

&y 7

(dy 8

Which of the following is true for a positively skewed distribution?

(a} Mode = median = mean

(b} mean < median < Mode

(¢} Mode < median < mean

(d) median < Mode < mean

Which of the following is not affected by an extreme value in a data set?

(@) The mean absolute deviation

(b) The median

{c) Therange

(d) The standard deviation

Given the following sample values, what is the sample variance?

15, 20, 40, 25, 35

(a 9.27

(b} 56.0
(¢) 10.37
(d) 107.5

(F&E{57H BA FEREL)
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7.

10.

11.

An instructor recorded the following quiz scores (out of a possible 10 points) for

the 12 students present. The scores were

7,4,4,7,2,9,10,6,7,3,8,5

The interquartile range for this set of scores is

(a) 7.5

(b) 6.5

{c) 8

(d) 3.5

A final statistics exam had a mean of 70 and a variance of 25. If a student mad

an 80 on his exam, what is his z score?

(a) -2

(b) 10

(c) 0.4

(d) 2

Given that a sample is approximately bell-shaped with a mean of 60 and a

standard deviation of 3, the approximate value for the ggt percentile for this

distribution is

(a) 63

(b) 66

(c) 69

(d) 57

The number of students entering a university cafeteria during a random

selected hour was observed. Following are the numbers for 20 different

randomly selected hours during a week of final examinations when the cafeteria

was open for business

141, 100, 94, 88, 79, 74,72,71, 55,54, 52, 41, 35, 34, 33, 31, 29, 28, 28, 23

What is the value of the first quartile for this set of values?

(a) 118.0

(b) 31.50

(c) 77.75

(d) 46.25

In a simple linear regression model with x representing the independent

variable and y representing the dependent variable, correlation analysis is used

to

(a) Find the least-squares regression line

(b) Find the slope of the regression line

(c) Measure the strength and direction of the linear relationship between x
andy.

(d) Draw a scatter plot.
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12. Inthe simple linear regression model, if there is a very strong correlation

between the independent and dependent variables, then the correlation
coefficient should be

(a) Closeto-1

(b) Closeto +1

{c) Close to either-1or +1

(d) Closeto zero

Use the following information to solve problems 13 to 16:
You are given the following set of observations for the independent variable x and

the dependent variable y:

13.

14,

15,

16.

17.

The correlation coefficient is

(a) -1.0

(b) -0.8971

(¢ +1

(d) 0.8971

The least-squares estimate of slope of the regression line is
(a) +4.0

(b) -1.3

{c) -0.9

(d) -4.0

The coefficient of determination is
(a) -1.0

(b) -0.8048

(c) +1

(d) 0.8048

What does the coefficient determination mean?

In an experiment where the probability of a success is 0.4 and you are
interested in the probability of two successes out of seven trials, the correct
probability for this situation is

(a) 0.0774

(b) 0.1600

(c) 0.2613

(d) 0.0016 CREE R LGS
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18. Which of the following is not a property of a binomial experiment?
(a} The number of trials is fixed
(b) There are exactly two possible outcomes for each trial
(c) Theindividual trials are dependent on each other
{d) The probability of success is the same for each trial
19. If Xis a normal random variable with a mean of 15 and a variance of 9, then
P(X=18) is
(a) 0.8413
{b) 0.0000
(c) 0.3413
(d) 0.1587
20. As the sample size increases,
(a) The population mean decreases
(b) The population standard deviation decreases
(c) The standard deviation for the distribution of the sample means increases
(d)} The standard deviation for the distribution of the sample means decreases
21. Samples of size 49 are drawn from a population with a mean of 36 and standard
deviation of 15. Then P(X<33} is
(a) 0.5808
(b} 0.4192
(c) 0.1608
(d) 0.0808

Use the following information for Questions 24 to 26:
Two machines are used to fill 50-pound bags of dog food. Sample information for
these two machines is given below:

MACHINE 1 MACHINE 2
Sample size 81 64
Sample mean (pounds) 51 48
Sample variance 16 12

22. The point estimate for the difference between the two population means (1 -2)
is

(a) 17

(b} 3

() 4

(d) -4




| gt :

FFr4EAl

ZHME

352 B AshA®—O— %5 A L5844 R A
B T4
. R

#Q m 8)H

O 0 0226 &K ¢ 3

23.

24,

25.

26.

27.

28.

The standard deviation for the distribution of differences of sample means (y,

-Hy) is

(a) 0.6205

(b) 0.1931

(c) 0.3850

(d) 0.3217

Find P(X; — X, = 2)

(a) 0.4463

(b) 0.0537

(c) 0.9463

(d) 0.5537

The sampling distribution of the sample proportions can be approximated

generally by a normal distribution when

(a) np>5

(b) n>=30

(c) both np>5 and n(1-p)>5

(d) all the above are true

A 90 percent confidence interval for a population mean indicates that

(a) We are 90 percent confident that the interval will contain all possible
sample means with the same sample size taken from the given population

(b) We are 90 percent confident that the population mean will be the same as
the sample mean used in constructing the interval ‘

(c) We are 90 percent confident that the population mean will be covered
within the interval

(d} None of the above is true

The heights (inches) of the students on a campus are assumed to have a normal

distribution with a standard deviation of 4 inches. A random sample of 49

students was taken with a mean of 68 inches. The 95 percent confidence

interval for the population mean y is

(a) 67.06 to 68.94 inches

(b) 66.88 to 69.12 inches

(¢) 63.42to 72.48 inches

(d) 64.24to 71.76 inches

A type | error is defined to be the probability of

(@) Not rejecting a true null hypothesis

(b} Not rejecting a false null hypothesis

(c) Rejecting a false null hypothesis

(d) Rejecting a true null hypothesis

(B&A BB k%)
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29. Atypell error is defined to be the probability of
(a) Not rejecting a true null hypothesis
{b) Not rejecting a false null hypothesis
(c) Rejecting a false null hypothesis
(d) Rejecting a true null hypothesis
30. It was reported that a certain population had a mean of 27. To test this claim,
you selected a random sample of size 100. The computed sample mean and
sample standard deviation were 25 and 7, respectively. The p-value for the
appropriate set of hypothesis is
(a) 0.0021
(b) 0.9979
(c) 0.0042
(d) -0.4979
31. Which of the following is true when applying one-way ANOVA technique?
{(a) Itinvolves a one-tailed test
(b) The degrees of freedom equal the number of levels
(¢} The between-samples sum of squares always will equal the within-samples
sum of squares
(d) The variance of the population are assumed to be different from each
other

Use the following information to solve problems 32 to 38:
The summary for a one-way ANOVA is given below:

SUMOF DEGREESOF -MEAN
SQUARES FREEDOM SQUARE FRATIO

Between samples (factor) 800 3 266.6667 2
Within samples (combined samples) 1,600 12 133.3333
Total 2,400 15

32. How many levels are there for the factor?
(a) 3
(b) 4
(c) 2
(d) 15
33. How many values of the response variable are there for each level if it is
assumed that each level of the factor has equal sample size?
(a) 3
(b) 5

(c) 12
(d) 4
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34.

35.

36.

37.

38.

39.

A possible null hypothesis for this table is

(a) HO: pi#pp=p3=}4

(b) HO: pa=pa=H3=p,

(c) HO: pi=p=p3

(d) HO: pa#p#ps

The test statistic value for this table is

(a) 266.67

(b) 133.33

(c) 2

(d) 3

The degree of freedom (numerator, denominator) for the distribution of the
F-test statistic are

(a) (3,12)

(b) (3,15)

(c) (12,15)

(d) (412)

If you are to test at the 5 percent level of significance for equality of means,
then the critical F value for the test is

(a) 2

(b) 3.47

{c) 8.74

{(d) 5.95

If you are to test at the 5 percent level of significance for equality of means,
your decision will be

{(a) Fail to reject the null hypothesis

(b) Reject the alternative hypothesis

{c) Fail to reject the alternative hypothesis

(d) Reject the null hypothesis

Please explain the central limit theorem

G U ED
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TABLE B: ~-DISTRIBUTION CRITICAL VALUES

n.‘.

Tl probebidity 2

df 28 I G5 00 5 WS 02 0L 005 00 001 008

111000 1376 1963 3078 £314 1271 (AE9 MB2 €66 1373 383 6368

T} 816 LDS1 LB LESS 2920 4303 489 S¥6S 9925 MM 233 MW

31765 978 1250 L4638 2353 3482 3482 4841 SBaL 7483 103 1292

41741 ML LI L33 2R OLTI6 2999 3747 AG06 5598 7173 861D

S| 727 40 1156 1476 2015 2571 2757 3365 42 AT S893 6369

6] M3 908 LIM LAM0 190 2447 1612 1143 307 4317 5208 5859

P10 96 L9 LA L89S 2965 2517 2998 3499 409  ATAS 5408

3] 796 839 LIS 1397 1860 2306 2449 289G 3355 3133 4801 S04)

g1 .03 833 LIG0 1343 LE33 2262 2398 282 3250 1490 4297 478

1061 200 879 1093 131 LRIZ 2728 IS8 4764 169 3581 4144 488Y

1] 497 876 1088 1383 1796 2201 1XNE 2718 2106 3487 4ms 44N
121 855 E73 1083 L35 1782 2179 133 2631 3085 342 3o 401k
13 ) 64§70 1079 1350 LI71 2180 2282 2650 30120 A3 3E2 42
14] 892 868 1076 LS 1761 2145 1264 1624 29T 3326 37K AMO

15] 691 866 L4 LMl LTS 1M UG 26027 24T 3288 373 4073

T161 650 BAY 071 L3N 1746 210 15 2583 2971 3352 3586 4018
17] 689 863 L06% 1333 1740 2110 21224 1567 2898 3222 1546 3965

18] A58 362 1067 13 LM Rj01 2214 2352 247 3197 3611 390

191 688 861 1066 1328 1729 2093 22058 2339 286 3174 359 3883

00 67 60 L0684 135 1728 2086 1197 2528 2845 2153 3552 3250
i 436 859 10D 130 177 2080 2139 2518 2831, 3I3S 38277 A8
22§ 686 BB LG61. 13U 1MT 2074 2163 1508 2519 3319 3508 302
230 683 A% 10600 L3I LTI4 2068 2177 2500 2807 304 3485 1768
241 685  LBS7T  LOSB LB LML 2084 2172 2452 2797 3091 AAET  3AS
251 A4 856 LOSE 1316 700 2060 1167 2485 2787 QTS 3450 3725
261 884 856 LOSE 1303 708 2056 AMZ 4B 1M 306 it 17
7] 634 355 1057 L4 1703 2052 2158 2473 2T A0ST 3421 3.6
#6383 1056 LM 1500 2048 254 2467 1763 3047 3408 1404
2] 683 U854 1055 L1 1699 2MMY 2130 24862 2756 3033 31396 3.6
301 683 A4 LOSS 130 16T LD 21T 2457 270 30N 3385 3646
404 681 351 1050 1303 6B 2021 2123 248 2704 2971 3307 385
504 7% 39 L7 1299 1676 2009 2100 2403 2678 2937 3261 349
01 619 Me 145 1396 1671 2000 2099 130 2860 2915 11 3460
80} 678 846 1043 1191 1666 1590 2088 2374 2439 288 3195 3416
100 § 677 845 L1042 1290 1650 1984 2081 2364 2626 2871 3074 3390
b 575 B2 LB7 1782 1546 1962 2006 21330 2581 2813 2098 3300
~] 574 B4l 16 1282 1645 1960 208 2336 2576 2807 3091 3201

0% 0% 0% 0% 0% 9% W%  SER W% 9998 99IR  599%

Areas in the upper tail of the standerd normat diskibution

I 400 €01 0.02 0.03 04 0.05 106 0.07 0.08 (1%
0.0 0500 049 0492 D488 0484 0480 0476 0472 0468 040d
. 040 0456 0432 0448 D444 0440 04360 0433 0429 0425
02 0421 0417 0413 0409 0405 0801 D397 0394 D30 0386
0.3 0382 0378 0374 0371 0367 0363 0359 0356 0352 0348
04 0343 033F 0337 033 0330 0326 A3 0319 036 0312
05 0308 0305 0302 0298 G295 0291 0288 0284 0281 0278
96 027 0270 0268 0264 0260 0238 0285 0251 0248 045
0.7 0242 0239 0236 0233 0230 0227 02X 0221 0218 0.218
0% 0212 0209 2060 0203 0200 9% 0393 0192 0189 087
0.9 0184 081 0079 D76 0174 0071 0469 0l66 U064 0161
1O 0459 0056 Q433 052 D48 0147 045 0342 01300 0438
4 013 0133 0131 0129 6927 0423 0033 o2 oug 0117
.2 0115 0113 o1l 000% 007 0006 0104 0102 0 0.099
L3 087 0 0095 0483 0002 0090  0.082  00R7 0085 0084 00¥2
14 GNRI 0079 0078 0076 00735 0074 0072 0071 0069 0.06%
L5 0067 0066 0064 0063 Q062 0061 0059 0058 0057 0058
16 0055 0054 0053 0.052 0051 0049 0048 0047 0046 D046
L7 6045 0044 0043 G042 004 0040 003Y D038 0038 0.037
I8 0036 0035 0034 003 0033 0032 0031 0031 0030 0.029
9 0028 0028 0027 0027 0026 0026 0025 1024 0024 0023
200 0023 0022 0032 0020 043 0020 0N 0019 B01Y 0013
P 008 0017 0017 0017 0016 0016 0015 0015 0015 001
22001 00 0013 603 D0IR o1z a2 o2 0010 601
23 0010 0010 0010 0010 0010 0009 0008 O0S (009 D008
24 0008 G008  DOOE  DOADE 0007 0007 D007 00607 0007 0006
25 0006 0006 0006 0006 0006 O005 0005 0005 0008 0005
26 0005 0003 0004 D04 0004 004 0004 0003 0004 0.0
27 0003 0003 G003 0003 0003 0003 0003 0003 0003 0003
280063 0002 Qon2 0002 0002 0002 0002 0.002 0002 0.002
29 0002 400z 0002 0002 0002 0002 o002 0000 0001 0.0
300 04001 0061 0001 0001 0001 0000 0001 0001 00Dl 0.001
P00 0001 0001 GODY 0001 0001 00 Q001 0001 0001
2 000t 0001 0001 ONGE 0001 0001 0001 0008 0001 0001
3300000 D00 0000 0000 0000 0060 DO0O Q000 0000 0.0
340000 0000 000 0000 0000 0000 00 0000 G000 0.000
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1} F
o= .05
df;
dfy 1 2 3 4 S & L3 12 24 o~
t bieid 1993 2157 2246 2302 230 MY HIv 200 284D
2 151 1900 1906 1935 190 9} IBAT 194 1945 S
3 10.13 9.55 9.2% 9.92 9.0 594 854 8.74 B.64 853
3 7 6.94 6,59 6 6.26 646 6.0 91 .77 $.63
M b.41 5 541 519 508 1935 432 .68 1.5 438
6 5.99 SI3 470 48 LW A 4% Aw 384 A7
7 5.59 4,74 438 412 397 3.7 Al R¥.Y) 141 an
8 b3 ] 446 407 184 38 3SR R U .2 342 293
9 512 4.26 186 303 348 bR 12 hXir] 2o 27
10 496 4.40 331 A8 133 R fe] k¥in 29 74 2.54
I} 4.84 398 i LR T - X B X5 I ] 261 3,
12 .15 Kk 349 26 LI 300 2% 289 iS22
) 467 38 341 I8 302 282 27T 280 242 2
4 EX A %1 LR1} 296 2KS w28y 3
i% ER1} 168 b 306 290 k] XY 248 pah 307
16 W S R & 1 a1 188 2 1w 242 24 241
1] 445 s Ax 2496 281 270 285 23 2 Lo
1% 441 3.55 kX1 203 r17 2.8 153 b 215 [
19 438 s k%3 9 274 26d 248 M 21 188
0 135 A9 Aw 2.87 PR ]! 260 248 22 R
h 432 247 3.07 284 268 237 142 2 21005 181
n 4N 344 108 282 266 2SS T4 223 203 LR
n 128 342 30 R0 24 2.5 2 2 176
h2 | 126 34 RX:t) 2.7 242 28 2.3 2R (K] L7
25 424 3K 29 276 a6 28 1M 20 LYo 171
20 4.22 337 294 24 1% W 23 s 1.98 1.69
27 4.2 3.35 256 27 257 246 .30 b8 A (R A) L7
pa ] 1M i 2495 LN .56 PR 2] 1 o 191 LS
pe 4.18 133 243 2.7 e 243 2N .6 (K1 16
n 4.17 e 292 X 25 242 k) 2M (] 1.62
0 208 L) 284 2.61 245 M 2% 20 1.1 1.51
o0 RV B 1.1 2.76 18 W 228 20 1.92 (T[] 1.39
1 kX 107 2 248 bR N & 202 L&Y 1.1 1.25
n b 3R 28 2 3AT A A e LIS 152w

Sewsee: From Table V of R. A. Fisher wad F, Yates, Sotissicad Table for Bitogical. Agricolturul wnd Medival

Research, published by Longawn Group Lid.. Lendon, 1974, (Préviowly published by Ofiver & Boyd. Edin-
buargh.s Reprinted by permission of the authors snd publishers,




